C:h |dentifying Points of a Functionin a Table Name:

Each table shows Y asa function of X. Deter mine which choice shows a point that can be Answers
part of the same function.
D x|y 2) | x| v | x|y 1.
-1 -5 510 -8 | -3
8| 6 8 | 7 7] 8 2
4 | -9 4 | 6 311
0| -2 0|-1 3| 4 3
9| 2 8|7 511
A.(-1,0) A.(9,9 A.(-8,-7) 4
B. (-3, -6) B.(8,-4) B.(-3,-8)
C.(4,9 C.5,7 C.(-7,2 5
D.(8,-8) D. (0, 6) D.(1,-2
6.
7.
H x|y 5 | x|vY 6) [ x | v
8| 4 6|3 5 | -8 8
-4 1 -9 411 -1 -8
2| 7 1|5 0|0 9
51 2 512 7| -2
0|-1 315 9 |1
A.(-8,8) A.(1,-7) A.(5,3)
B.(-2,2) B.(-8,-7) B.(-6,-9)
C.(2,-2 C.(-3,-5) C.(7,-9)
D.(5,7) D. (-5, -6) D.(0,-2)
x|y 8 [ x|vY 9 x|y
5| -6 5|-5 9| 8
8 | -2 1| -7 -1 -8
-6 | -2 31-9 0O
315 2 |-9 -4 | -3
-1 -9 0| 8 3|-5
A.(-1,-4) A. (2,2 A.(9,6)
B.(-5,-1) B.(-1,-6) B.(-4,-1)
C.(6,-7) C.(7,5) C.(-1,-6)
D. (-6, 6) D.(5,-2 D.(1,8)
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C:h |dentifying Points of a Function in aTable Name: Answer Key

Each table shows Y asa function of X. Deter mine which choice shows a point that can be Answers
part of the same function.
Dlx|y 2 [ x|vY 3 [ x|y 1 B
-1 -5 510 -8 | -3
8|6 8|7 718 2 A
4 (-9 4 | 6 3|1
0|-2 0|-1 3| 4 3 D
9| 2 8|7 511
A.(-1,0 A.(9,9 A.(8,-7) 4 C
B. (-3, -6) B.(8,-4) B. (-3,-8)
C.(4,9) C.(5,7) C.(-7,2) 5 B
D.(8,-8) D. (0, 6) D.(1,-2
6. B
7. C
H x|y 5 | x| vy 6) | x| v c
8| 4 6| 3 5| -8 8
-4 1 -9 411 -1 | -8
2|7 1|5 00 9 D
51 2 5] 2 7| -2
0|-1 3|15 9 |1
A.(-8,8) A.(1,-7) A.(5,3)
B.(-2,2) B.(-8,-7) B.(-6,-9)
C.(2,-2 C.(-3,-5) C.(7,-9)
D. (5 ’ 7) D. (_5 ) _6) D. (O ’ -2)
x|y 8 | x|vY 9|x|y
5| -6 5|-5 9| 8
8 | -2 1| -7 -1 -8
-6 | -2 31-9 0O
315 2 -9 4| -3
-1 -9 0| 8 3 |-5
A.(-1,-4) A. (2,2 A.(9,6)
B.(-5,-1) B.(-1,-6) B.(-4,-1)
C.(6,-7) C.(7,5) C.(-1,-6)
D. (-6, 6) D.(5,-2) D.(1,8)
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